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SN BFEANP0EH

g 20z &8

Cel 231018 Al 2E (St &)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
YEANY0sR 2,795,599 2,958,441 £ 162,842
230le 1S 2,394,516 2,556,336 A 161,820
23018 AlE =5 115,411 225,681 A 110,270
DIEHHASOR ALHNS 115,411 0 115,411
401 Al HI L 2Tl 115,411 0 115,411
01 Al&H 115,411 0 115,411
OFMASCQ YA DA 50,051
Ottgreatha M & A&
47,000,0002 * 6.49% 3,051
Ot th2 M 2 A(L=500m)
47,000,00094 47,000
OSHULTAM(BRASOL UFS)
76,0002 * 860 65,360
NEOIE2 22 HA 29 826,769 699,409 127,360
220l | (RORIA) 179,583 164,276 15,307
101 Q121 Hl 35,175 0 35,175
04 JIZHH2ENSE S 35,175 0 35,175
CEES T EEINESS 35,175
SRIEL] 74,8408 * 2% « 262 82 31,134
O = EIH| 200,0008 * 2% * 23l 800
osHEE 3,241
-=oieg 31,134,0008 * 4.5% 1,402
-~ 31,134,002 * 3.12% 972
~HIRYLH 972,0008 * 7.38% 72
-8 31,134,0008 * 1.5% 468
—6H T2 31,134,0002 * 1.05% 327
201 YEt2 A H| 80,280 112,780 £32,500
01 At 2H2l | 55,280 73,280 18,000
OOtE A Z M =T 5,000,000% * 13l 5,000
OXEZTHO! bl 2,000,0008 * 3% 6,000
ONZEY ¥ CIXNEIZ 2,000,008 * 23] 4,000
OLUHERTH(E=)
10,0002 * 1,005 * 15 10,000
o222 R 10,000
OFAE A 1,500 * 3,000 4,500
Ozl 1,5002 + 3,000% 4,500
oJesee 1,0008 * 1,000% 1,000
OBl 2SI (B, BE)
5,000,000% * 23] 10,000
OHY = 77,0008 * 402 3,080
OOIZZNZDE  1,800,0008 * 28 * 25 7,200




AN EFAME0=2
g 20z &8

ol A0SR 22 JA 2d EER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 32224l 3,000 3,000 0
OXNELEH2(2S L MANSH)
1,000,000,000& * 0.1% 1,000
ORHEQI(2H W ZHE T=22)
500,000& * 43| 2,000
03 A2 Z bl 22,000 36,500 A 14,500
O&AZCIHIOIH 2,000,000 * 29 = 2& 8,000
OFANSHHA(SH HEHA)
4,000,000& = 13 4,000
O Al &H| 10,000 = 200 2,000
OIA0ICIHEH HOYI 5,000,000& = 13l 5,000
OFAHA 22F 2 HI 3,000,000& = 13 3,000
203 R F&H| 3,000 1,000 2,000
03 Al =X R =XH| 3,000 1,000 2,000
OFA ¥ Olz=2s ZRFA 3,000,000 3,000
301 et A3 46,128 30,496 15,632
09 HAIAHIEA = 46,128 30,496 15,632
O (RELT YL H2)
100,000& * 10 » 6 6,000
2ZERA b 24 66,8803 * 8% 75 40,128
401 Al S B2 2 0H Yl 15,000 20,000 25,000
04 S Ab2tEH Al &I 15,000 20,000 25,000
OFAZZHHI(TEIQ, X0, &M 5)
15,000,000 * 13| 15,000
22 JEA|(2Y ZI2NHE) 215,368 157,415 57,953
201 B2 | 153,160 97,280 55,880
01 A2 22| bl 104,560 77,280 27,280
OOtEAS M AP 2,000,000& = 43| 8,000
OXSU 0 bl 2,000,000& = 5H 10,000
OXZEY %L CXNEIE 2,000,000& * 43| 8,000
OUMSHEH (£ =)
10,000& = 2,000% * 1& 20,000
O==22H &bl 14,000
O&AEA 1,500 = 4,000% 6,000
OoclE8 1,500& = 4,000% 6,000
OXEAH 1,000& = 2,000% 2,000
ORERSEH (LY, YE)
3,000,000& = 83l 24,000
OCIHY = 24| 77,0008 * 80 6,160
(O ==FSPNEESE= 1,800,000 * 48 * 28 14,400
02 2322l 3,000 2,000 1,000
OXNEREHR(22 L HALH)
2,000,000,000& * 0.1% 2,000




N BFANE0=2
M 20z s
&2 A0z 22 Al 23 (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
ORERB(=HE TEZSE) 500,0008 * 23 1,000
03 &AL Gl 45,600 18,000 27,600
OXAIZCIUIOIH 2,000,000 » 2 = 6 24,000
OT A FCHH A 900,000& * 43 3,600
OZ&0ICIo&Edl Al 5,000,000& = 23l 10,000
OEANHEALZ2 S 2SI 1,000,000 = 43l 4,000
OIS Al &t 1,000,000& =* 43| 4,000
301 LA Z 42,208 40,135 2,073
09 HALEHIZE A= 42,208 40,135 2,073
OQHHI(HBHEX & E=)
100,000& = 8% = 6¥ 4,800
OR2IR¥ U224 66,800& * 8% = 70 37,408
401 A& HIZ 201 I 20,000 20,000 0
04 S Ar2tet Al & HI 20,000 20,000 0
OXMANEZ=HUI(IEIA M, =M F)
5,000,000& = 43| 20,000
22 JIEAIN(Stol=sd) 166,360 205,270 A 38,910
201 €24l 105,280 141,280 236,000
01 At22t2l bl 79,280 115,280 A 36,000
OOLEA S M= F I 5,000,000& = 13l 5,000
OSSN 5,000,000& = 49& 20,000
OX=ZEY % UXNEINE 2,000,000& = 23] 4,000
OMEMHLEI(EE)
10,000& » 2,000 » 135 20,000
Os&E=H &l 10,000
OXANEA 1,500& = 3,000% 4,500
oc s 1,500& * 3,000% 4,500
OZAH 1,000& = 1,000% 1,000
OXZ2el2&HI(BHY ,BtE)
5,000,000& = 23| 10,000
oY =& 77,000 * 40 3,080
olls&x&unz 1,800,000& = 28 * 28 7,200
02 =224l 2,000 2,000 0
OXNZEEZ (2SS € HANEEH)
1,000,000,000& * 0.1% 1,000
ORTLI(=FE ==LS) 500,0008 = 23 1,000
03 & Ar2 Z I 24,000 24,000 0
OXFAIZCIUIOIH 2,000,000 » 2& = 3 12,000
OXANSFHBAN(SH L HEHA)
2,000,000& = 23l 4,000
©JHatAl Al 10,000& * 2004 2,000
OZ&0ICIo&Edl Al 5,000,000& =+ 13l 5,000
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ANElls2t 22 A 29

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEANHEA 22F 2| 1,000,000 = 13l 1,000
301 et a s 46,080 43,990 2,090
09 AL HI B &S 46,080 43,990 2,090
OAAHI(HZHLEX ¥ H=z)
100,000& » 1098 = 62 6,000
O2IR¥ 2HEY 66,800& * 8% = 75¢ 40,080
401 AIEHI L 2 CHEI 15,000 20,000 25,000
04 A2t A Al & HI 15,000 20,000 A5,000
OXAIEZHHI(THEIE XU, =M )
15,000,000& * 12l 15,000
22 JEANV(ZHREH) 265,458 172,448 93,010
201 Let24d] 202,050 104,280 97,770
01 At 2teltl 129,050 67,280 61,770
OOtELSH &I 5,000,000& = 13l 5,000
O&Z U O 2,000,000& * 159 30,000
oxzEY ¥« UXNEJIE 3,000,000& * 123 3,000
OAMESHAHH(EE)
20,000& = 1,000% = 138 20,000
(OF=3=R=—P (g 10,000
O&AE A 1,500& * 3,000% 4,500
OFIE L 1,500& *» 3,000% 4,500
OZAH 1,000& * 1,000% 1,000
OXBHcl2&HI (Y, Bt E)
25,000,000& = 23l 50,000
OQHY =2 77,000 » 50 3,850
OIS PNET SnE= 1,800,000% * 2& * 2& 7,200
02 324l 4,000 2,000 2,000
OXEBLEE(2E ¥ HANEEH)
2,000,000,000& * 0.1% 2,000
ORERLB (=YY TELSE)
2,000,000 = 13l 2,000
03 &AL S HI 69,000 35,000 34,000
OAPI=H 0 HI 1,000,000& * 209 20,000
OFAIZCIUIOIH 2,000,000 * 3% « 53 30,000
OXARUEAN(SH X HEHA)
4,000,000 = 13l 4,000
O Al &l 10,0002 * 200 2,000
OZA0ICIHEHl CHAOHI 10,000,000& * 13 10,000
OHAEAL 22F 72| 3,000,000& = 13l 3,000
301 gt d= 43,408 48,168 A4,760
09 SALAHIEA S 43,408 48,168 AN4,760
OQIHHI (HELEX & H=)
100,000& = 10H » 6 6,000




SN BFEANP0EH

dH: 20s s
Sel: NEOIEE 22 BA 29 CER-ED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OS2I Ad B4 66,800 * 8H x 70« 37,408
401 Al HI L £ 0HHI 20,000 20,000 0
04 HAFZ A Al & B 20,000 20,000 0
OMAFZAH (IHEIE B, M )
20,000,000& * 13 20,000
sl 29 182,592 145,982 36,610
HE3s0l=2 JI&28d 95,458 71,974 23,484
101 @121 17,188 0 17,188
04 JI2ZtH 22 XNHEE =+ 17,188 0 17,188
OBXSMHAPA(HESO=H) 17,188
ool d| 74,8403 * 19 * 26 » 8 15,567
OY &SIyl 0
o4HEeg = 1,621
-=01H= 15,567,000& * 4.5% 701
-HEEE 15,567,000& * 3.12% 486
A YEE 486,000& * 7.38% 36
-1s8EE 15,567,000& * 1.5% 234
“MTHE S 15,567,000& * 1.05% 164
201 et A | 72,270 46,950 25,320
01 AFR22t2l Y] 20,000 0 20,000
OXEZUNHE= 1,000,000& * 204 20,000
02 332494l 1,750 1,750 0
OXMEEHEE 1,000,000,000& * 0.1% 1,000
OREQI(=HZ ==2eE) 250,0008 = 33 750
03 A2 H 50,520 45,200 5,320
O&™AIAEHI 21,000
OXESSHI(8HY BHE) 3,000,0008 * 23 6,000
OgHHE M o TEE H &Y
3,500,000& * 23] 7,000
O AEHl HH bl 2,500,000& * 23] 5,000
OdsEg AR 1,500,000& = 23| 3,000
©olME MEY 18,000
OT = CIXQ!l oI M HI
10,000& * 5002 = 23| 10,000
OEZEY ¢ (XNE HE
2,000,000& * 23] 4,000
OdANEEKFNZ 500,000& * 23] 1,000
Ogaeidgy| 1,500,000& * 23] 3,000
O=Y2 2 M| 9,120
OFANEAN, SE 1,500 * 1,0008 * 23] 3,000
OEAHYE 228 1,500& * 1,00082 * 23| 3,000




FN: EFAE 2t
M 2oos ds
tel: HEslis2 29 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OB~ & DA NS
60,000& = 23| 120
O15FE D18 OtEASH A2
3,000,000& = 13l 3,000
OJHatAl XSHHI(MOILE, HEHA)
1,200,000& * 23| 2,400
301 gt 4= 6,000 25,024 A 19,024
09 SAAHIEA S 6,000 25,024 A 19,024
OQIHHI (HELEX & H=)
100,000& = 38 = 10 * 23l 6,000
a0 22H 58,650 53,008 5,642
201 Let24d] 56,550 53,008 3,542
01 At 22/l 15,000 0 15,000
OZZUNYI 5,000,000& = 3& 15,000
02 =224l 1,500 1,000 500
OXZEE= 1,000,000,000& =* 0.1% 1,000
ORBRB(ZHEY, &8YS)
250,000& = 23] 500
03 A2 S HI 40,050 52,008 A 11,958
(OFSPNRGE-1:1 10,000
OXZ2&HI(8tY BH&E) 3,000,0008 * 13 3,000
OgHEM I mHElSE H &
3,000,000 = 13l 3,000
OgaFdl HA bl 2,500,000& = 13l 2,500
OdEg A28 7224l 1,500,000& * 13| 1,500
OQI= HMZ I 20,000
O&S OXtel eIt
10,000& = 5008 = 33l 15,000
ONBEY U UXNEHE
2,000,000& = 13l 2,000
OdFXMINNMANEER DS 500,000 * 33 1,500
OgEH | 1,500,000& * 13l 1,500
(OF =38P (g 5,850
OHANEM, & 1,500& = 1,000% * 23] 3,000
OZAHE cl&38 11,5008 * 1,5008 * 13 2,250
Ol 20 o MAQU AOIS
600,000& * 13 600
OZ2& AAHA 4,200
OS2& YA 1,200,000 * 13l 1,200
Ot et =20
1,000,000 * 33l 3,000
301 gEtE L= 2,100 0 2,100
09 HALAHI EA S 2,100 0 2,100




FN: EFAE 2t
M 2oos ds
tel: HEslis2 29 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CEEEIEERIEED))
100,000& = 3H » 7 2,100
QIEN 2208 24 28,484 21,000 7,484
201 £B-2dH| 28,484 21,000 7,484
03 A2 Z Hl 28,484 21,000 7,484
©2019 A&4F™A ME (Ko, #aH)
600,000& = 83l 4,800
OBsIAEY T2y (M)
500,000& = 123l 6,000
02019 23t &E (42 2339)
4,500,000& = 23l 9,000
OFY MAlHE Z2OSH(MAHH HEQLHA)
66,8003 * 1H = 130 8,684
EHARLL 29 178,018 162,490 15,528
Al - &AL 2 116,788 99,620 17,168
101 @124l 17,588 0 17,588
04 JI2ZtHZ22HEE =+ 17,588 0 17,588
OBXSHAPRA(OSEHASLLR) 17,588
ool 74,840 * 1H * 262 * 8 15,567
OFEFItHI 200,000& = 1H « 23| 400
C42E = 1,621
B = 15,567,000& * 4.5% 701
-HAEH 15,567,000& * 3.12% 486
IR E 486,000& = 7.38% 36
-IE2d™ 15,567,000& * 1.5% 234
“MTHEE 15,567,000& * 1.05% 164
201 et 94,800 97,520 A2,720
03 & Ar2 Gl 94,800 97,520 A2,720
O&Al 74 47,600
OXBMHE & A= 29,200
-JEA 4,000,000& = 23| 8,000
-YFFI ddolA 800,000& * 243| 19,200
LQEASLQUL=ZI ZSEHAM)
2,000,000& = 13l 2,000
OXE MUEZ L HE  600,000& » 243 14,400
OXZ2el25H| (Y, 8tE)
2,000,000& = 23| 4,000
OdAl EE 47,200
OoME (=& 28 S)ME 45,200
-JIEA 4,000,000& = 23| 8,000
—Y=A0L oA 800,000& * 243l 19,200
REASUAUEE Z§)
18,000,000 * 13l 18,000




2N H=AE 2
dH: 20s s
S Ds=EHRASEC 29 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ol0l=&X &= 2,000,000& * 13 2,000
301 dEtE A= 4,400 2,100 2,300
09 HAIAH EA= 4,400 2,100 2,300
OHAMNKE X3 SALA = &H|
8,000& * 10¥ x 153 1,200
OCIHAHI(HELEX & &H=x)
100,000 * 49 » 8 3,200
=AD& 20,820 20,820 0
201 et A | 15,620 15,620 0
03 S ALS H I 15,620 15,620 0
OYF&I ssAIAS 15,620
QaAEE 1,420
-8 TAH HZE 2,000& x 5008 1,000
= 70,000& = 64 420
(OF=k= 14,200
-z E ME 1,700,000& 1,700
-2AL2 350,000 = 24H 8,400
—SH AF &I S H 200,000& =* 83l 1,600
-2 d @28 A 2,500,000& * 13 2,500
206 M= 8l 5,200 5,200 0
01 X &2 bl 5,200 5,200 0
OFAIA 8HH SHAFH (HAES 105)
2,000,000& * 23] 4,000
OJIZS&EE MI+ H & 600,000& * 24 1,200
HE®ZA 43 18,000 20,000 A 2,000
201 LEt2 Y| 18,000 20,000 A 2,000
03 A2 H H| 18,000 20,000 A 2,000
O=U2 ns Tz )& 29 18,000
OnEHAIINE &= HEbI
10,000& * 50052 5,000
OS2 (HAYIELE) 1,500,000& = 13l 1,500
OXE2CISSHI (Y, BHE)
4,000,000& * 23] 8,000
OEATS#H (LEHAILE)
3,500,000& * 13 3,500
Tzl 29 22,410 22,050 360
201 et A b 22,410 22,050 360
01 AFR 2t 2l Yl 11,000 11,000 0
OlNlz=&EMAS EE2 11,000
O Xt 5,000& * 1,000% 5,000
OclZ8 (4ctE0l) 1,500& = 1,000% 1,500




2AM: EFAE0 =2
dH: 20s s
S Ds=EHRASEC 29 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OsE=2 458 & 500& = 1,0000H 500
OXS AR EH L HE 2,000,000 * 23] 4,000
02 3524l 4,200 3,000 1,200
OXNzd Ees 2,100& * 1008 = 203 4,200
03 S AIS H H| 7,210 8,050 A 840
ORAHEOE FF(AUEFHZZEH) 7,210
OH#HAIZEEZ M & 4,450
EE 1,500& * 5008 750
=Rl 70,000& * 10H 700
-~ ) 29 A2 3,000,000 3,000
Oz A2 230,000& » 124 2,760
QEAMAIZ 2Y 76,340 90,936 AN 14,596
QEFAY el L 2% 76,340 90,936 £ 14,596
201 Bt A | 45,120 60,700 A 15,580
01 AP 22l Yl 36,820 40,400 A 3,580
0O JEH 29 36,820
OazEdY 4 LXNEI=s
2,000,000& * 23] 4,000
OeIM= HE 16,400
-5 10,000& * 5002 * 2& 10,000
-8 AE A 1,500 * 8008 * 23] 2,400
2l Za 1,500& * 8008 * 23] 2,400
-ZAH 1,000& * 8005 * 23l 1,600
O8 =9 M 70,000& = 64 420
O&AHAS 2,000,000& * 23] 4,000
OXEHCISSHI (B, BHE)
6,000,000& * 23] 12,000
02 332494l 300 300 0
OXEEHEE 300,000,000& * 0.1% 300
03 SHALZ H I 8,000 20,000 A 12,000
OIHet Al x| 10,000& * 200 = 23| 4,000
OTAHAI A2 E FH| 2,000,000& * 23] 4,000
301 YetE A 23,220 22,236 984
09 HALAHIEA S 23,220 22,236 984
O &It AlHl 24 250,000 * 20¥ * 23] 10,000
OCIAHI(HELEX & &H=x)
100,000 » 2 * 42 x 43| 3,200
O2IEd AU 24
6,800& * 1H » 252 * 6& 10,020
401 Al HI L 2T 8,000 8,000 0
04 HAFZ A Al & HI 8,000 8,000 0
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FANE 2t
M 20z s
Sl QFTAIB 2Y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXMANEZZHUI(IEIA M, =M F)
2,000,000& = 43| 8,000
lls=2 88 58,000 57,600 400
D=2 2235 58,000 57,600 400
201 Let24d] 58,000 57,600 400
01 At 22l 58,000 57,600 400
Ooll=2 224l 58,000
O0lsa 8Al 212
1,500,000& * 38 * 23 9,000
O==20ANEES MH 5,000& = 4,000 20,000
O=2s £35E=5F MZE 5003 = 4,8000H 2,400
OQHY =24 77,000& * 302 * 23] 4,620
Oll&2 QHLH 2 X}
2,500& * 1,000 * 2& 42t 20,000
O¥stE 24l 165,000& * 12&8 1,980
ANZENW s - 2278 299 32,264 66,192 A33,928
AZHEA dHN= 15,120 13,588 1,532
201 Let24d] 10,620 10,388 232
01 At 22/l 4,820 2,338 2,482
OQHY =2 77,0003 = 10 23| 1,540
O=EESH &I 3,280
Ou=sgotl 2l
1,500& = 1,000% * 23l 3,000
Ol 70,000 * 200 = 23| 280
03 A2 Z Hl 5,800 8,050 A2,250
OZ2H2HE 2AtE  230,000& » 5% * 23| 2,300
OMMS LI AL (T L A2E)
100,000& * 103l 1,000
oOR¥INsXl= (N=5d)
250,000& = 5% « 23] 2,500
301 et a s 4,500 3,200 1,300
09 &AL HI B &S 4,500 3,200 1,300
OXNSHEAN B E&E AHEH
15,000& 23 = 150 4,500
AQIDH B HGctE 80l 2 8,040 8,180 A 140
201 Let24E] 8,040 8,180 A 140
01 At 22l 4,740 4,980 A 240
OQHHUEEH 77,0008 * 10 = 23] 1,540
O==2=H &l 3,200
Oou=setuel =3 1,500& = 1,000% = 23l 3,000
Ol 50,0003 = 24 * 23| 200




fAH: EFAE0=2
M 20z s
Cel AIRIEO DR - T2 2 CER-ED
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 3,300 3,200 100
OZ2)H2IAAALE  230,000& » 5% * 23| 2,300
OMMS LI AU (T L ARE)
100,000& * 103l 1,000
Aza 29 9,104 34,104 A 25,000
201 L2l 4,104 4,104 0
01 At 221l 4,104 4,104 0
O=U BJIads =8 2,304
Obls& 2& 12,000& * 6& = 12& 864
OUdzs0= 12,0004 * 48 » 123 576
OD=&EHARLL 12,0008 » 45 = 12€ 576
OLEN A2 12,0008 * 2& = 12& 288
O=2 AJIAd=E 2=8 300,000& * 28 600
onzd 423 100,000& * 123 1,200
405 TtabF S| 5,000 30,000 A 25,000
02 = A7l 5,000 30,000 A 25,000
ODl=d2 TAH FUHI(EEE)
100,000& * 50& 5,000
L2ES 22 553,000 754,200 A 201,200
L2EF S 500,000 700,000 A 200,000
405 RHoHF S HI 500,000 500,000 0
01 et EZFH S 500,000 500,000 0
OANEll=2 A2ZFFLH|
25,000,000 * 20& 500,000
2T BE2e 53,000 54,200 A 1,200
201 £B-2%H| 51,000 54,200 A 3,200
01 At 22/l 45,000 46,200 A 1,200
O=#&1 HESH(2ES22)
500,000& = 123 6,000
OXBHC(LS S) 2,500,000& » 32 * 23 15,000
OLES AEEHA 50,0003 = 30& 4= 6,000
(ORLPNPNIES, 300,000& = 30& 9,000
Oll=8 MN2ZLHE 23 3,000,000& = 33l 9,000
02 =24l 6,000 8,000 A 2,000
o0L2ZTE BEE 3,000,000,000& * 0.2% 6,000
301 L2 A= 2,000 0 2,000
09 HALAHIE& S 2,000 0 2,000
OQHH (HZZ =, HZEHI)
100,000& = 2% = 23| * 5¢ 2,000
Ols2 |Xak 372,122 353,846 18,276
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